8 7 6 | 5 {7

Parts Diagram

Included Hardware

Parts List
ITEM NO. PartNo DESCRIPTION Qry
1 T-DV72-S 6' Expanded Deluxe Seat 1
{[ - “15 P-Vg42P 942P VINYL LEG 2
33.02-0007 5/16" Flal Washer (35) 12 = 22 1/8" —
33.02-0008 3/8" Flat Washer (SS)

5/16" x 1" /

33-03-0012

33-03-0013

Machine Bolt KO |
/

P-01-04-0129

26 3/4" Brace

@ (| ~N| D& w N

33-06-0058

2
33.05.0029 5/16" x 1" Machine Bolt (38) 5
5/16" Kep Nut (39) 8 15"
3/8" Kep Nut (39) 2
2
2

318" x 3" Carriage Bolt (33)

/ Q\' 3/8" Washer

~— . Tools Required

5/16" Washer

=
e

7
® 3/8" x 3" 3/8" Kep Nut
o Carriage Bolt

@

9/16" & 1/2" 9/16" & 1/2"
Wrench Socket Wrench

5/16" Kep Nut

Tape Measure

WARRANTY: OCCOutdoors, Inc. guarantees all items for one full year to be free of defects in workmanship or mat

erials when installed and maintained properly. We agree to repair or replace, any items determined to be

defective. Items specifically not covered by this warranty include vandalism, manmade or natural disasters, lack of maintenance, normal weathering or wear and tear due to public abuse.

NOTES:

I INSTALLATION TO BE COMPLETED IN ACCORDANCE WITH MANUFACTURER'S SPECIFICATIONS.
2 ALL DIMENSIONS APC CONSIDCPCD TPUL AND PCTLCCT MANUFACTUPCP'S SPCCITICATIONS
3. DO NOI SCALE DRAWING.

This document contains OCC Outdoors Proprietary Information. No intellectual copyright or
license is granted by OCC Outdoors in connection with it. It is delivered on the express condition
that the document and the information contained in it shall be treated as confidential, shall not be
used for and purpose other than that for which it is hereby delivered (the use and maintenance of
the product supplied). It shall not be disclosed in whole or part to third parties and shall not be
duplicated in any manner without OCC Outdoors's prior approval.

OCC Outdoors Products pH: '
1-800-821-7670 OCC Outdoors Deluxe 6' Bench W/

EMAIL - occcontact@occoutdoors.com O Back, 15" Plank, Portable Mount,
Fax: 1-317-862-9422 Diamond Pattern

Part #: OCC-942P-DV6

Date: 12/12/2015 Page 1 of 2

3 [ 7 [ 6 [ 5 ZP

4 | 3 2 [ 1




9AA-dTr6-D00 # Hed

CCY6=C98-L1¢-T -Xed

WOJ'SI00PIN0IIOM)IOBIU0III0 - TIVINA

0L9L-178-008-1 ‘Hd $10npoid s100pInQ DDO T JO ¢ 93ed

ordwrexy 180§ UIR pUOWRI(]

"uUmMoys se aremprey payads ayy Suisn s39] g6 oY) 03 SAORIQ ,F/€-97 Y3 Yoeny :g daig

e i

- R 3 —
R e e

alempley paloads Buisn sba Zi6 sUl 01 1eag axnjaq papuedx3 ,9 ay] yoeny

SUOTIONIISUT A[qUIdSSY

a o 7 = _ <




s v

516" x 1"
Machine Bolt

I/\/;\\l
g
5/16" Washer

©

5/16" Kep Nut

318" x 3"
Carriage Bolt

3/8" Kep Nut

Parts Diagram

Parts List

Dimensions

ITEM NO. PartNo DESCRIPTION aQry

1 T-DP72-3 6' Punched Deluxe Seat 1

2 P-Vg42P 942P VINYL LEG 2

3 33-02-0007 5/16" Flat Washer (S8) 12
4 33-02-0008 3/8" Flat Washer (38) 2

5 33-05-0029 5/16" x 1" Machine Bolt (SS) 6
6 33-03-0012 516" Kep Nut (88) 6
7 33-03-0013 3/8" Kep Nut (S5) 2
8 P-01-04-0129 26 3/4" Brace 2
9 33-06-0058 3/8" x 3" Carriage Bolt (S5) 2

Tools Required

9/1€" & 1/2"
Wrench

@

9/16" & 1/2"
Socket Wrench

Tape Measure

3ne”

WARRANTY: OCCOutdoors, Inc. guarantees all items for one full year to be free of defects in workmanship or materials when installed and maintained properly. We agree to repair or replace, any items determined to be
defective. Items specifically not covered by this warranty include vandalism, manmade or natural disasters, lack of maintenance, normal weathering or wear and tear due to public abuse.

NOTES:

I INSTALLATION TO BE COMPLETED IN ACCORDANCE WITH MANUFACTURER'S SPECIFICATIONS.
2 ALL DIMENSIONS APC CONSIDCPCD TPUL AND PCTLCCT MANUFACTUPCP'S SPCCITICATIONS
3. DO NOI SCALE DRAWING.

This document contains OCC Outdoors Proprietary Information. No intellectual copyright or
license is granted by OCC Outdoors in connection with it. It is delivered on the express condition
that the document and the information contained in it shall be treated as confidential, shall not be
used for and purpose other than that for which it is hereby delivered (the use and maintenance of
the product supplied). It shall not be disclosed in whole or part to third parties and shall not be

duplicated in any manner without OCC Outdoors's prior approval.

OCC Outdoors Products pPH:

1-800-821-7670

EMALIL - occcontact@occoutdoors.com

Fax: 1-317-862-9422

OCC Outdoors Deluxe 6' Bench
W/O Back, 15" Plank, Portable
Mount, Perforated Pattern Seat

Part #: OCC-942P-DP6

Date:

12/12/2015

Page 1 of 2

8

7

6

3 2 [ 1




9dd-d<r6-000 -# Hed

CCY6=C98-L1¢-T -Xed

WOJ'SI00PIN0IIOM)IOBIU0III0 - TIVINA

0L9L-1T8-008-1 :Hd $1onpoid s100pnQ DDO ¢ Jo ¢ dded

ordwiexyq 189S uIdNed PoIRIOId]

"umoys se alempley paoads Buisn sba Zy6 a4l 0) s2oeIg , $/S-9Z Ul Yoeny

Fay
\ £

.—WEEEE paljoads Buisn sbaT Z+6 aUl 0] 188S aXN[3(] payaund ,9 aul yoeny
SUOTIONIISUT A[qUISSSY

a o 7 = _ <




	OCC_942P-V6_Portable_Mount_Diamond_Specifications
	OCC_942P-V6_Portable_Mount_Diamond_Specifications
	Page_2

	OCC_942P-P6_Portable_Mount_Perforated_Seat_Specifications
	OCC_942P-V6_Portable_Mount_Diamond_Specifications
	Page_2




